

Topic → TO find the General Solution
of Linear Differential Equation
the form When $f(D)y = e^{ax}$ when $f(a) \neq 0$

Class — B.Sc II (Maths Honrs)

Date —

BY Samrendra Kumar

Problem 1 → solve.

$$\frac{d^2y}{dx^2} + 3\frac{dy}{dx} + 2y = e^{2x}$$

Solution → Given Equation is

$$\frac{d^2y}{dx^2} + 3\frac{dy}{dx} + 2y = e^{2x}$$

Which is in Symbolic form

$$(D^2 + 3D + 2)y = e^{2x}$$

Auxiliary Equation

$$D^2 + 3D + 2 = 0$$

$$D^2 + 2D + D + 2 = 0$$

$$(D+2)(D+1) = 0$$

$$D = -1, -2$$

$$\therefore C.F. = C_1 e^{-x} + C_2 e^{-2x}$$

$$f(D) = D^2 + 3D + 2$$

Particular integral, is Given by
 $y \sim \frac{e^{2x}}{f(D)}$

$$f(2) = 2^2 + 3 \cdot 2 + 2 = 12 \neq 0$$

$$y = \frac{1}{f(2)} e^{2x} = \frac{1}{12} e^{2x}$$

∴ General solution

$$y = C.F. + P.I.$$

$$= C_1 e^{-x} + C_2 e^{-2x} + \frac{1}{12} e^{2x}$$

$$2. \frac{d^2 y}{dx^2} - 2k \frac{dy}{dx} + k^2 y = e^x$$

Given Equation in Symbolic form

$$(D^2 - 2kD + k^2)y = e^x$$

$$f(D) = D^2 - 2kD + k^2$$

$$f(1) = 1 - 2k + k^2 = k^2 - 2k + 1 \neq 0$$

Now for P.I.

$$y = \frac{1}{f(1)} e^x = \frac{1}{k^2 - 2k + 1} e^x = \frac{1}{(1-k)^2} e^x$$

for C.F.

Auxiliary Equation

$$D^2 - 2kD + k^2 = 0$$

$$(D - k)^2 = 0$$

$$D = k, k$$

$$∴ C.F. = (C_1 + C_2 x) e^{kx}$$

$$∴ \text{General solution} = C.F. + P.I. = (C_1 + C_2 x) e^{kx} + \frac{1}{(1-k)^2} e^x$$

Problem 3.

~~Ex 3~~ $\frac{d^2y}{dx^2} - 4 \frac{dy}{dx} + 4y = e^{3x}$

Solution $\rightarrow$ Given Equation can be written in Symbolic form

$$(D^2 - 4D + 4)y = e^{3x}$$

$$\text{Here } f(D) = D^2 - 4D + 4$$

$$f(3) = 9 - 12 + 4 = 1 \neq 0$$

$$\therefore P.I = \frac{1}{f(3)} e^{3x}$$
$$= e^{3x}$$

for C.F

Auxiliary Equation

$$f(D) = 0$$

$$D^2 - 4D + 4 = 0$$

$$(D - 2)^2 = 0$$

$$D = 2, 2$$

$$\therefore C.F = (C_1 + C_2 x) e^{2x}$$

$\therefore$ General Solution

$$y = C.F + P.I$$

$$= (C_1 + C_2 x) e^{2x} + e^{3x}$$